

# A proof of Itô's formula using a discrete Itô's formula <sup>1</sup>

**Takahiko Fujita**

Graduate School of Commerce and Management, Hitotsubashi University,  
Naka 2-1, Kunitachi, Tokyo, 186-8601, Japan, E-mail:fujita@math.hit-u.ac.jp

**Yasuhiro Kawanishi**

Graduate School of Commerce and Management, Hitotsubashi University,  
E-mail:cd042003@srv.cc.hit-u.ac.jp

**Abstract.** In this paper, we will prove Itô's formula for Brownian motion in the case of  $f \in C^2(\mathbf{R})$ , using a discrete Itô's formula.

**2000 AMS subject classification:** 60G50, 60H05, 60J65

## 1 Introduction

Let  $\{Z_t; t = 0, 1, \dots\}$  be a  $\mathbf{Z}$ -valued symmetric random walk, that is,  $Z_0 = 0$ ,  $Z_t = \xi_1 + \xi_2 + \dots + \xi_t$  where  $\xi_1, \xi_2, \dots$  are independently and identically distributed with  $P[\xi_1 = 1] = P[\xi_1 = -1] = 1/2$ . We have the following.

### Lemma ( Discrete Itô's Formula )

For any  $f : \mathbf{Z} \rightarrow \mathbf{R}$  and any nonnegative integer  $t$ , it holds that

$$f(Z_{t+1}) - f(Z_t) = \frac{f(Z_t + 1) - f(Z_t - 1)}{2}(Z_{t+1} - Z_t) + \frac{f(Z_t + 1) - 2f(Z_t) + f(Z_t - 1)}{2}. \quad (1)$$

This is called a discrete Itô's formula. It was discovered by the first author. The proof is very easy. We only have to consider the difference between the left-hand side(henceforth, abbreviated LHS) and the second term of the right-hand side(henceforth, abbreviated RHS) of the above equation. For the details of this discrete Itô's formula, see [1],[2],[3]. In the next section, we will give a proof of Itô's formula for Brownian motion in the case of  $f \in C^2(\mathbf{R})$  using the above discrete Itô's formula. It seems natural that Itô differential formula can be approximated by the discrete Itô (Itô difference) formula. In the proof, it is important that how we approximate Brownian motion by random walks. For the approximation method, the reader is referred to Itô and McKean [4] section 1.10.

---

<sup>1</sup>This paper appeared on *Studia Scientiarum Mathematicarum Hungarica*, Vol.45, No.1, (2008), 125-134.

## 2 The proof

Let  $\{W_s; s \geq 0\}$  be a standard Brownian motion and  $f$  be in  $C^2(\mathbf{R})$ . In the sequel, we are going to prove the following statement:

$$P\left[f(W_t) - f(0) = \int_0^t f'(W_s) dW_s + \frac{1}{2} \int_0^t f''(W_s) ds \quad \text{for } \forall t \geq 0\right] = 1. \quad (2)$$

Let us begin the proof. As it is well-known to anyone who has proved Itô's formula, it is sufficient that we show

$$P\left[f(W_t) - f(0) = \int_0^t f'(W_s) dW_s + \frac{1}{2} \int_0^t f''(W_s) ds\right] = 1, \quad (3)$$

where  $f \in C^2(\mathbf{R})$  has a compact support and  $t > 0$ . So we suppose that  $f \in C^2(\mathbf{R})$  has a compact support and fix  $t > 0$ . We will introduce an approximation to Brownian motion by random walks. For  $n = 1, 2, \dots$ , define that

$$\begin{aligned} \tau_{n,0} &:= 0, \\ \tau_{n,i} &:= \inf \left\{ s > \tau_{n,i-1}; |W_s - W_{\tau_{n,i-1}}| = \frac{\sqrt{t}}{2^n} \right\} \quad \text{for } i = 1, 2, \dots \end{aligned}$$

Then by the strong Markov property of Brownian motion,  $\tau_{n,i} - \tau_{n,i-1}$  ( $i = 1, 2, \dots$ ) are independently and identically distributed. And so are  $W_{\tau_{n,i}} - W_{\tau_{n,i-1}}$  ( $i = 1, 2, \dots$ ). In addition to that, it holds that

$$\left. \begin{aligned} E[W_{\tau_{n,1}}] &= 0, \\ E[\tau_{n,1}] &= \frac{t}{2^{2n}}, \\ E[\tau_{n,1}^2] &= \frac{5}{3} \frac{t^2}{2^{4n}}. \end{aligned} \right\} \quad (4)$$

Actually,  $\{W_s; s \geq 0\}$ ,  $\{W_s^2 - s; s \geq 0\}$  and  $\{W_s^4 - 6sW_s^2 + 3s^2; s \geq 0\}$  are martingales. And also, by Doob's optional sampling theorem,  $\{W_{s \wedge \tau_{n,1}}; s \geq 0\}$ ,  $\{W_{s \wedge \tau_{n,1}}^2 - (s \wedge \tau_{n,1}); s \geq 0\}$  and  $\{W_{s \wedge \tau_{n,1}}^4 - 6(s \wedge \tau_{n,1})W_{s \wedge \tau_{n,1}}^2 + 3(s \wedge \tau_{n,1})^2; s \geq 0\}$  are martingales. Thus, it follows that

$$\begin{aligned} E[W_{s \wedge \tau_{n,1}}] &= 0, \\ E[s \wedge \tau_{n,1}] &= E[W_{s \wedge \tau_{n,1}}^2], \\ E[(s \wedge \tau_{n,1})^2] &= -\frac{1}{3}E[W_{s \wedge \tau_{n,1}}^4] + 2E[(s \wedge \tau_{n,1})W_{s \wedge \tau_{n,1}}^2]. \end{aligned}$$

Then if we let  $s \rightarrow \infty$ , we can obtain (4). Furthermore, by the above-mentioned facts,  $\{\tau_{n,i} - i \frac{t}{2^{2n}}; i = 0, 1, 2, \dots\}$  is a martingale. Thus, by (4) and the submartingale inequality, it holds that

$$\begin{aligned} P\left[\sup_{1 \leq i \leq 2^{2n}} |\tau_{n,i} - i \frac{t}{2^{2n}}| > \varepsilon\right] &\leq \varepsilon^{-2} E[(\tau_{n,2^{2n}} - t)^2] \\ &= \varepsilon^{-2} \frac{2}{3} \frac{t^2}{2^{2n}}. \end{aligned} \quad (5)$$

So if we apply Borel-Cantelli lemma, we obtain that

$$P\left[\lim_{n \rightarrow \infty} \sup_{1 \leq i \leq 2^{2n}} |\tau_{n,i} - i \frac{t}{2^{2n}}| = 0\right] = 1. \quad (6)$$

Then by (6) and the uniform continuity of a continuous function defined on a compact interval, it follows that

$$P\left[\lim_{n \rightarrow \infty} \sup_{1 \leq i \leq 2^{2n}} |W(\tau_{n,i}) - W(i \frac{t}{2^{2n}})| = 0\right] = 1. \quad (7)$$

Here by the discrete Itô formula and appropriate scaling, we obtain that

$$\begin{aligned} f(W(\tau_{n,2^{2n}})) - f(0) &= \sum_{i=0}^{2^{2n}-1} \frac{f(W_{\tau_{n,i}} + \frac{\sqrt{t}}{2^n}) - f(W_{\tau_{n,i}} - \frac{\sqrt{t}}{2^n})}{2 \frac{\sqrt{t}}{2^n}} (W_{\tau_{n,i+1}} - W_{\tau_{n,i}}) \\ &\quad + \frac{1}{2} \sum_{i=0}^{2^{2n}-1} \left\{ f(W_{\tau_{n,i}} + \frac{\sqrt{t}}{2^n}) - 2f(W_{\tau_{n,i}}) + f(W_{\tau_{n,i}} - \frac{\sqrt{t}}{2^n}) \right\}. \end{aligned} \quad (8)$$

First, by (7), the LHS of (8) converges to  $f(W_t) - f(0)$  almost surely as  $n \rightarrow \infty$ . Next, we can show that the second term of the RHS of (8) converges to  $\frac{1}{2} \int_0^t f''(W_s) ds$  a.s. as  $n \rightarrow \infty$ . In fact, we have that

$$\begin{aligned} &\left| \sum_{i=0}^{2^{2n}-1} \left\{ f(W_{\tau_{n,i}} + \frac{\sqrt{t}}{2^n}) - 2f(W_{\tau_{n,i}}) + f(W_{\tau_{n,i}} - \frac{\sqrt{t}}{2^n}) \right\} - \int_0^t f''(W_s) ds \right| \\ &\leq \left| \sum_{i=0}^{2^{2n}-1} \left\{ f(W_{\tau_{n,i}} + \frac{\sqrt{t}}{2^n}) - 2f(W_{\tau_{n,i}}) + f(W_{\tau_{n,i}} - \frac{\sqrt{t}}{2^n}) \right\} \right. \\ &\quad \left. - \sum_{i=0}^{2^{2n}-1} f''(W(i \frac{t}{2^{2n}})) \frac{t}{2^{2n}} \right| \\ &\quad + \left| \sum_{i=0}^{2^{2n}-1} f''(W(i \frac{t}{2^{2n}})) \frac{t}{2^{2n}} - \int_0^t f''(W_s) ds \right|. \end{aligned}$$

The second term of the RHS of the above inequality converges to zero a.s. as  $n \rightarrow \infty$ , because  $f''(W_s)$  is Riemann integrable on  $[0, t]$ . As for the first term of the RHS, when we put it as  $A_n$  and represent second order remainder terms

of Taylor expansion in integral forms, we have the following.

$$\begin{aligned}
A_n &\leq \sum_{i=0}^{2^{2n}-1} \left| \int_{W_{\tau_{n,i}}}^{W_{\tau_{n,i}} + \frac{\sqrt{t}}{2^n}} f''(s) (W_{\tau_{n,i}} + \frac{\sqrt{t}}{2^n} - s) ds - \frac{1}{2} f''(W_{\tau_{n,i}}) \frac{t}{2^{2n}} \right| \\
&\quad + \sum_{i=0}^{2^{2n}-1} \left| \int_{W_{\tau_{n,i}}}^{W_{\tau_{n,i}} - \frac{\sqrt{t}}{2^n}} f''(s) (W_{\tau_{n,i}} - \frac{\sqrt{t}}{2^n} - s) ds - \frac{1}{2} f''(W_{\tau_{n,i}}) \frac{t}{2^{2n}} \right| \\
&\quad + t \sup \left\{ |f''(u) - f''(v)|; |u - v| \leq \sup_{1 \leq i \leq 2^{2n}} |W(\tau_{n,i}) - W(i \frac{t}{2^{2n}})| \right\}.
\end{aligned}$$

Here it holds that for  $x, y \in \mathbf{R}$ ,

$$\left| \int_x^y f''(s)(y-s) ds - \frac{1}{2} f''(x)(y-x)^2 \right| \leq (y-x)^2 \sup_{|u-v| \leq |y-x|} |f''(u) - f''(v)|.$$

So we obtain that

$$\begin{aligned}
A_n &\leq 2t \sup \left\{ |f''(u) - f''(v)|; |u - v| \leq \frac{\sqrt{t}}{2^n} \right\} \\
&\quad + t \sup \left\{ |f''(u) - f''(v)|; |u - v| \leq \sup_{1 \leq i \leq 2^{2n}} |W(\tau_{n,i}) - W(i \frac{t}{2^{2n}})| \right\}.
\end{aligned}$$

By the uniform continuity of  $f''$  and (7), the RHS of the above inequality converges to zero a.s. as  $n \rightarrow \infty$ . Therefore, the second term of the RHS of (8)

converges to  $\frac{1}{2} \int_0^t f''(W_s) ds$  a.s. as  $n \rightarrow \infty$ .

Last, let us show that the first term of the RHS of (8) converges to  $\int_0^t f'(W_s) dW_s$  in probability as  $n \rightarrow \infty$ . We define that

$$H_n(s) := \sum_{i=0}^{2^{2n}-1} \frac{f(W_{\tau_{n,i}} + \frac{\sqrt{t}}{2^n}) - f(W_{\tau_{n,i}} - \frac{\sqrt{t}}{2^n})}{2 \frac{\sqrt{t}}{2^n}} \mathbf{1}_{(\tau_{n,i}, \tau_{n,i+1}]}(s).$$

Then the first term of the RHS of (8) can be written as  $\int_0^{\tau_{n,2^{2n}}} H_n(s) dW_s$ . Let

$\varepsilon, \delta$  be strictly positive. First, we have

$$\begin{aligned}
p_n &:= P \left[ \left| \int_0^{\tau_{n,2^{2n}}} H_n(s) dW_s - \int_0^t f'(W_s) dW_s \right| > \delta \right] \\
&\leq P \left[ \left| \int_0^{\tau_{n,2^{2n}}} (H_n(s) - f'(W_s)) dW_s \right| > \frac{\delta}{2} \cap |\tau_{n,2^{2n}} - t| \leq \varepsilon \right] \\
&\quad + 2P[|\tau_{n,2^{2n}} - t| > \varepsilon] \\
&\quad + P \left[ \left| \int_t^{\tau_{n,2^{2n}}} f'(W_s) dW_s \right| > \frac{\delta}{2} \cap 0 \leq \tau_{n,2^{2n}} - t \leq \varepsilon \right] \\
&\quad + P \left[ \left| \int_t^{\tau_{n,2^{2n}}} f'(W_s) dW_s \right| > \frac{\delta}{2} \cap -\varepsilon \leq \tau_{n,2^{2n}} - t < 0 \right] \\
&\leq P \left[ \sup_{0 \leq r \leq t+\varepsilon} \left| \int_0^r (H_n(s) - f'(W_s)) dW_s \right| > \frac{\delta}{2} \right] \\
&\quad + 2P[|\tau_{n,2^{2n}} - t| > \varepsilon] \\
&\quad + P \left[ \sup_{t \leq r \leq t+\varepsilon} \left| \int_t^r f'(W_s) dW_s \right| > \frac{\delta}{2} \right] \\
&\quad + P \left[ \left| \int_{t-\varepsilon}^t f'(W_s) dW_s \right| > \frac{\delta}{4} \right] + P \left[ \sup_{t-\varepsilon \leq r \leq t} \left| \int_{t-\varepsilon}^r f'(W_s) dW_s \right| > \frac{\delta}{4} \right].
\end{aligned}$$

Here,  $\{\int_0^r (H_n(s) - f'(W_s)) dW_s; r \geq 0\}$ ,  $\{\int_t^r f'(W_s) dW_s; r \geq t\}$  and  $\{\int_{t-\varepsilon}^r f'(W_s) dW_s; r \geq t-\varepsilon\}$  are continuous martingales and these Itô integrals have the Itô isometry because  $f'$  is bounded. So by the submartingale inequality, Chebyshev's inequality, Jensen's inequality and Itô integral's isometry, it holds that

$$\begin{aligned}
p_n &\leq \frac{2}{\delta} E \left[ \left| \int_0^{t+\varepsilon} (H_n(s) - f'(W_s)) dW_s \right| \right] + \frac{2}{\varepsilon} E[|\tau_{n,2^{2n}} - t|] \\
&\quad + \frac{2}{\delta} E \left[ \left| \int_t^{t+\varepsilon} f'(W_s) dW_s \right| \right] + \frac{8}{\delta} E \left[ \left| \int_{t-\varepsilon}^t f'(W_s) dW_s \right| \right] \\
&\leq \frac{2}{\delta} \left\{ E \left[ \int_0^{t+\varepsilon} (H_n(s) - f'(W_s))^2 ds \right] \right\}^{1/2} + \frac{2}{\varepsilon} \{E[(\tau_{n,2^{2n}} - t)^2]\}^{1/2} \\
&\quad + \frac{2}{\delta} \left\{ E \left[ \int_t^{t+\varepsilon} f'(W_s)^2 ds \right] \right\}^{1/2} + \frac{8}{\delta} \left\{ E \left[ \int_{t-\varepsilon}^t f'(W_s)^2 ds \right] \right\}^{1/2}.
\end{aligned}$$

Furthermore, letting  $M$  be the maximum of  $|f'|$ , we have the following.

$$\begin{aligned}
p_n &\leq \frac{2}{\delta} \left\{ E \left[ \int_0^{t+\varepsilon} (H_n(s) - f'(W_s))^2 ds \right] \right\}^{1/2} + \frac{2}{\varepsilon} \{E[(\tau_{n,2^{2n}} - t)^2]\}^{1/2} \\
&\quad + \frac{10}{\delta} M \varepsilon^{1/2}. \tag{9}
\end{aligned}$$

As for the first term of the RHS of (9), we have the following upper bound by the mean value theorem (with  $\theta = \theta(W_{\tau_{n,i}})$  and  $|\theta| < 1$ ), Hölder's inequality

and(4):

$$\begin{aligned}
& E \left[ \int_0^{t+\varepsilon} (H_n(s) - f'(W_s))^2 ds \right] \\
&= E \left[ \int_0^{t+\varepsilon} \left( \sum_{i=0}^{2^{2n}-1} f'(W_{\tau_{n,i}} + \theta \frac{\sqrt{t}}{2^n}) 1_{(\tau_{n,i}, \tau_{n,i+1}]}(s) - f'(W_s) \right)^2 ds \right] \\
&= \sum_{i=0}^{2^{2n}-1} E \left[ \int_0^{t+\varepsilon} (f'(W_{\tau_{n,i}} + \theta \frac{\sqrt{t}}{2^n}) - f'(W_s))^2 1_{(\tau_{n,i}, \tau_{n,i+1}]}(s) ds \right] \\
&\quad + E \left[ \int_0^{t+\varepsilon} f'(W_s)^2 1_{(\tau_{n,2^{2n}}, \infty)}(s) ds \right] \\
&\leq \sum_{i=0}^{2^{2n}-1} E \left[ \left( \sup_{\tau_{n,i} \leq s \leq \tau_{n,i+1}} |f'(W_{\tau_{n,i}} + \theta \frac{\sqrt{t}}{2^n}) - f'(W_s)| \right)^2 (\tau_{n,i+1} - \tau_{n,i}) \right] \\
&\quad + M^2 E[|\tau_{n,2^{2n}} - t - \varepsilon|] \\
&\leq \sum_{i=0}^{2^{2n}-1} \left\{ E \left[ \left( \sup_{\tau_{n,i} \leq s \leq \tau_{n,i+1}} |f'(W_{\tau_{n,i}} + \theta \frac{\sqrt{t}}{2^n}) - f'(W_s)| \right)^4 \right] \right. \\
&\quad \left. \times E[(\tau_{n,i+1} - \tau_{n,i})^2] \right\}^{1/2} \\
&\quad + M^2 \{E[(\tau_{n,2^{2n}} - t)^2]\}^{1/2} + M^2 \varepsilon \\
&\leq \sqrt{\frac{5}{3}} t \left\{ E \left[ \left( \sup_{\substack{0 \leq i \leq 2^{2n}-1 \\ \tau_{n,i} \leq s \leq \tau_{n,i+1}}} \left\{ |f'(u) - f'(v)|; |u - v| \leq \sup_{\substack{0 \leq i \leq 2^{2n}-1 \\ \tau_{n,i} \leq s \leq \tau_{n,i+1}}} |W_{\tau_{n,i}} + \theta \frac{\sqrt{t}}{2^n} - W_s| \right\} \right)^4 \right] \right\}^{1/2} \\
&\quad + M^2 \{E[(\tau_{n,2^{2n}} - t)^2]\}^{1/2} + M^2 \varepsilon. \tag{10}
\end{aligned}$$

Here by (6), it holds that with probability one,

$$\begin{aligned}
\sup_{\substack{0 \leq i \leq 2^{2n}-1 \\ \tau_{n,i} \leq s \leq \tau_{n,i+1}}} (s - \tau_{n,i}) &= \sup_{0 \leq i \leq 2^{2n}-1} (\tau_{n,i+1} - \tau_{n,i}) \\
&\leq 2 \sup_{1 \leq i \leq 2^{2n}} |\tau_{n,i}(\omega) - i \frac{t}{2^{2n}}| + \frac{t}{2^{2n}} \\
&\rightarrow 0 \quad (n \rightarrow \infty).
\end{aligned}$$

From this fact, the uniform continuity of a continuous function defined on a compact interval and the uniform continuity of  $f'$ , it holds that with probability

one,

$$\lim_{n \rightarrow \infty} \sup \left\{ |f'(u) - f'(v)|; |u - v| \leq \sup_{\substack{0 \leq i \leq 2^{2n} - 1 \\ \tau_{n,i} \leq s \leq \tau_{n,i+1}}} |W_{\tau_{n,i}} + \theta \frac{\sqrt{t}}{2^n} - W_s| \right\} = 0.$$

So, by dominated convergence theorem, the first term of the last RHS of (10) converges to zero as  $n \rightarrow \infty$ . In addition, by (5), the second term of the last RHS of (10) and the second term of the RHS of (9) converges to zero as  $n \rightarrow \infty$ . Therefore, we have that

$$\limsup_{n \rightarrow \infty} p_n \leq \frac{12}{\delta} M \varepsilon^{1/2} \rightarrow 0 \quad (\varepsilon \rightarrow 0).$$

This means that the first term of the RHS of (8) converges to  $\int_0^t f'(W_s) dW_s$  in probability as  $n \rightarrow \infty$ . So we obtain (3). (Q.E.D.)

### Remark

- In [5], Szabados obtained another type of discrete Itô formula as the following.

$$g(Z_t) = \sum_{i=0}^{t-1} f(Z_i)(Z_{i+1} - Z_i) + \frac{1}{2} \sum_{i=0}^{t-1} \frac{f(Z_{i+1}) - f(Z_i)}{Z_{i+1} - Z_i}, \quad (11)$$

where  $g$  is defined as

$$g(k) = \operatorname{sgn}(k) \left\{ \frac{1}{2} f(0) + \sum_{j=1}^{|k|-1} f(j \operatorname{sgn}(k)) + \frac{1}{2} f(k) \right\}.$$

Furthermore, for  $f \in C^1(\mathbf{R})$ , he derived a new representation of  $\int_0^t f(W_s) dW_s$ , using Itô's formula, his discrete Itô's formula and the same approximation method of Brownian motion by random walks. Even if we use his discrete Itô's formula instead of (1), we can prove Itô's formula. Therefore (1) and (11) are not different in the limit case. But in the discrete case, they are different in that though (1) gives Doob-Meyer decomposition, (11) does not generally do so.

- We can prove Itô's formula for  $f \in C^{1,2}(\mathbf{R}_+ \times \mathbf{R})$ , using discrete Itô's formula in the explicitly time-dependent case:

$$\begin{aligned} g(t+1, Z_{t+1}) - g(t, Z_t) &= \frac{g(t+1, Z_t+1) - g(t+1, Z_t-1)}{2} (Z_{t+1} - Z_t) \\ &\quad + \frac{g(t+1, Z_t+1) - 2g(t+1, Z_t) + g(t+1, Z_t-1)}{2} \\ &\quad + g(t+1, Z_t) - g(t, Z_t), \end{aligned}$$

where  $g : \mathbf{Z}_+ \times \mathbf{Z} \rightarrow \mathbf{R}$  and  $t$  is a nonnegative integer. In fact, we have the following from this discrete Itô's formula and appropriate scaling.

$$\begin{aligned}
& f(t, W(\tau_n, 2^{2n})) - f(0, 0) \\
&= \sum_{i=0}^{2^{2n}-1} \frac{f((i+1)\frac{t}{2^{2n}}, W_{\tau_n, i} + \frac{\sqrt{t}}{2^n}) - f((i+1)\frac{t}{2^{2n}}, W_{\tau_n, i} - \frac{\sqrt{t}}{2^n})}{2\frac{\sqrt{t}}{2^n}} \\
&\quad \times (W_{\tau_n, i+1} - W_{\tau_n, i}) \\
&\quad + \frac{1}{2} \sum_{i=0}^{2^{2n}-1} \left\{ f((i+1)\frac{\sqrt{t}}{2^{2n}}, W_{\tau_n, i} + \frac{\sqrt{t}}{2^n}) - 2f((i+1)\frac{\sqrt{t}}{2^{2n}}, W_{\tau_n, i}) \right. \\
&\quad \quad \left. + f((i+1)\frac{\sqrt{t}}{2^{2n}}, W_{\tau_n, i} - \frac{\sqrt{t}}{2^n}) \right\} \\
&\quad + \sum_{i=0}^{2^{2n}-1} \left\{ f((i+1)\frac{t}{2^{2n}}, W_{\tau_n, i}) - f(i\frac{t}{2^{2n}}, W_{\tau_n, i}) \right\},
\end{aligned}$$

where  $f \in C^{1,2}(\mathbf{R}_+ \times \mathbf{R})$  has a compact support and  $t > 0$  is fixed. Here we only have to consider the limit of each terms when we let  $n \rightarrow \infty$ .

## References

- [1] Fujita, T. :A random walk analogue of Lévy's theorem, in this volume.
- [2] Fujita, T. :Martingale methods in pricing derivatives (in Japanese), The Hitotsubashi Review, Vol. 125, No.10, (2001),1-26.
- [3] Fujita, T. (2002) *Stochastic Calculus for Finance* (in Japanese), Kodansha.
- [4] Itô, K. and H. McKean (1974) *Diffusion Processes and their Sample Paths*, Springer.
- [5] Szabados, T. (1989) "A discrete Itô formula" *Limit theorems in probability and statistics (Pécs,1989)*, *Colloquia Mathematica Societatis János Bolyai* 57, North-Holland, Amsterdam, (1990), 491-502.
- [6] Szabados, T. (1996) "An elementary introduction to the Wiener process and stochastic integrals", *Studia Scientiarum Mathematicarum Hungarica* 31 (1996), 249-297.